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5 (a) Find the length of an arc of a circle of radius length 6 cm subtending an angle
of 120o at the centre. Give your answer in terms of π .

(b) A and B are acute angles where sin A = 3
5  and cos .B = 5

13

Find, as fractions, the value of cos A and the value of sin B.
Find the value of sin(A + B), giving your answer as a single fraction.

(c) xyz is a triangle where | xy | = 15 cm,
| yz | = 22 cm and ∠ =xyz 74o.
Find
(i) | xz |, correct to the nearest cm

(ii) ∠yxz ,  correct to the nearest degree.
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